Fit-Ness	


1. 	Four towns of similar size and type of population are going to be served by a single bus route. For each of the following requirements ,one at a time, design a bus route. Decide which of the three routes is the best route. Describe your criterion of best fit for this route. Your criterion should be based on a quantitative measure that you devise, and that can be used to calculate how good a fit any road makes to any collection of towns.


�EMBED Word.Picture.8���


a.	The route has to be straight and should pass through at least one of the towns.


b.	The route has to be straight.


c.	The route has to be circular.


2.	Where could another town be located so that it would be best served by this same bus route? Explain your answer. 
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